

Appendix to Lecture Notes 0 – The bias of $\hat{\sigma}^2$

Marina Meila
`mmp@stat.washington.edu`

Department of Statistics
University of Washington

April 2025

$$\mathbb{E}[\hat{\sigma}^2] = \mathbb{E}\left[\frac{1}{n} \sum_{i=1}^n (X_i - \hat{\mu})^2\right] \quad (1)$$

$$= \frac{1}{n} \mathbb{E}\left[\sum_{i=1}^n (X_i^2 - 2\hat{\mu}X_i + \hat{\mu}^2)\right] \quad (2)$$

$$= \frac{1}{n} \left\{ \sum_{i=1}^n \underbrace{\mathbb{E}[X_i^2]}_{\sigma^2 + \mu^2} + \mathbb{E}\left[-2\hat{\mu} \underbrace{\sum_{i=1}^n X_i}_{n\hat{\mu}} + n\hat{\mu}^2\right] \right\} \quad (3)$$

$$= \frac{1}{n} \{n(\sigma^2 + \mu^2) + \mathbb{E}[-2n\hat{\mu}^2 + n\hat{\mu}^2]\} \quad (4)$$

$$= \sigma^2 + \mu^2 - \mathbb{E}[\hat{\mu}^2] \quad (5)$$

$$= \sigma^2 + \mu^2 - (\mathbb{E}[\hat{\mu}]^2 + \text{Var}\hat{\mu}) \quad (6)$$

$$= \sigma^2 + \mu^2 - (\mu^2 + \sigma^2/n) \quad (7)$$

$$= \sigma^2 - \frac{1}{n}\sigma^2 \quad (8)$$

This derivation used the *second moment* formula $\mathbb{E}[Z^2] = \text{Var}Z + \mathbb{E}[Z]^2$.